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0D0000000000,00000,0000000000000300,05000

00*00,000000000 p,00 v,00 p,0000000 U0 6000000
00.00000,0000000000000000.000000000000000
0000000 (00000)0000,000000000000 2000000000
0D00000000000000000,00000000000000 5000000
0.0000,000000000000000000000

41 O0OOO0O0OOO
googboooobooboooobobobooboobobuoboooboboDbo
0.2
411 0O0OOO
ggobobog,ggobobodoobooboooobobodad:
p = pRT. (4.1)

000 (4.1)0000000000000000DO0D0. 00,00000 nkmol OO
gooooooooo

pV =nR*'T (4.2)

000.000,R*00000 (R*=8314x103JK'kmol™})0OO. 00 V

*lQpp 30000000,000000 z,y,200000000000000,0000, x,y,200
000000,000000000000000050000.
*2 000000000000000000,000000000 Boussinesq 0000000000 OO.
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0000000000000 000 mkg, 000000 O0O0O MOOO, (4.2)0

m R*
o 43
P=vu (4.3)
000. p=m/V 00000, 410 (43)000000
R*
R="1 4.4
M (4.4)

gooboooooobooooooo.

R 000000000 0000000 (000 28)7.5%, 00 (000
32) 23.1 %, 0000 (000 40) 1.3 % 00000000, 000000
M =28 x 0.755 +32 x 0.231 +40 x 0.013 =28.96. 10000 R= R*/28.96 =
287.1JK ke~ ODDO0O.*

000000bD0oo0oo0DOoooOoDOoDOo0DOoO C,00000 R*O %DD
2000000000000000 $00000000000000°00000
000 C,=C,+R"0000000000000000000000000 G,
0 Cp,=1IR=1005J/K/kg 0000

4.1.2 Boussinesq O O

000000 300000000000000000000,000
p=f(p,T) (4.5)

Oo0O00. 000, fO000D0000DOO0O0O.0DO0O0OODOOO0ODO Ty, 00 poOO
OO0 TaylorOODOO,000 1000000000

p=fp,T) ﬁer (%)T(p—poH (g—;)p(T—To)

=po

=m+(%)#%ﬂm+<%0JT—%)

i (3), 0w 2 (), )

*“000000000000000

*“0poo 80km 00000000 0O0OOOOOOOOOO.

*00000000000000000000,000000000000000000.

*00000 LRx(0OO)000.

*TMayer 000D0O0O0DDOO.

*®Cp=1IR0O 0000 1000000000000000000000000000000000000
000000000 ROOOOOOOODOOOOOO
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oooooo,
1 (@> ~0 (4.6)
po \Op/p
ooooooo,
p=pol —a(l—T)], (4.7)
1 (9p>
E —_— —_— 5 408
T o (8T P (48)

000 (47) 000000000000 Boussinesq0ODOOODO,00000,00

0000000000000 000000000000000. 000,a000000,
0o0ooooooooooon.*o
0000000,0000000000000,000000000

p=pol —a(l'—=Tp)+ B(s — so)], (4.10)

_ 1 [9p
= (&), i

O000000. 000,s000 (salinity) 000. sO0000,00 1kgOOODOOO
000000000000, 00,p0,a000000,000000 (coefficient of

saline contraction) D0 OO0 .
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gogoobobbodooooobob,bb pbbb0o040o. 00, 000000000
gogoobob pbbooooooobbobb. jooob,00obbbbbdoooon

*9(4.6) O

(3P> _ 9pT)
ap T 8(p7T)
_ 9(p,5) 8(T, p) (S, p)
9(p, S) 9(S, p) O(T, p)

-() 4G, (7))
8p s oT P oT p
Gl
Gy 2
goooddiddd. 0,000 csUUU0UUUUUUUUbDbDO,DDDObDDODODOO
Boussinesq 0000000000000 OOOOOOOOOOO.
*10(4.8)DDDDDDDDDDD,DDDDDDDDDDD,DDDDDDDDDDDDDDDDDDDDD

goooogoooo. DDDD,(%) < 0. 000,000000D00000O0DOO0DOO,00D00O0
p

gogbooooo. pp0oooobobobobobogoog.

(4.9)
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040 00000

0oooo
p=F(p) (4.12)
0000000,000000000000

f(p, p)=0 (4.13)

gooooooooodo, oo ooobo,ooguoooooa
0000000000000 00000,00000000000. (412) 0000
(4.13) 000000000000000 (barotropic fluid) 00 0. 000 (4.13) 000
oo oooouoooboouoo. od
o000, 0000000 boooobooboooo
O000000000. 000000000000 (baroclinic fluid) 00O00OO. OO0
O000000000D000000000000D0DO00D0O000D0DOO0d, barotropic
fuidODOODODODODODODOODOOOO (DDDDDDDDDDD (DDDD)DD),DD,
baroclinic0 D00 O0O0OO0O0OO0OOOO0O.
dobodooooooooouooooooboooouoooog.
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gobboooobbooooobb, bbb boobbouoobob. obbbooo
000000 p, 00 p, 000000 SOODOOOO

_ POy eyp (2250 4.14
p= o exp ( . ) (4.14)

0000.00000000000000,000000000000.00 0000
0C,00000¢C,00~=C,/C,000.000000000000000000
000000 (S=8,)00, (4.14)0
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good.

goboboogd
goobboooobbbooobbtbooobobboooobbboooobbboon
gobobooodooobuoooobbuooooboboooobbbooobLbboooooboo
0000000000000000(4.15) 0 (419 00000000000000 v O
000000000 (polytropic exponent) 00 000000000000 (=C,/Cy)



4.3 0000000

0000000000000 00000O04.15) 0 (419 00000000000 oOO
ggobooobobboogobobuooobbooooboboobobobuooobbodg ~vO
goobboooobbtboooobbbooobobbooooboboooubbboooo
ooboboooboboobobooobobooobD vy=1000000O0O0ODDOOODO
ggobobooooboboooobobuodybboooooo
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D
ooo D_i =00,0000000000000 (incompressible homogeneous fluid)
oo,

p = const. (4.16)

O000,0000D000D000D000OO0O0OODbOO. O0DO Newton OODODOOOO,
goooodg
%
Dt
ooo,P=p/p000.000000000

= -VP+ vV +K, (4.17)

V-v=0 (4.18)

O00. 00000000 »,POO0OODOOOOODOODODO 2000000000
ggodoobobooboobotbodooooooooooobo,oobobbbbbddoooooo
gogooob,buogdobboooboobobooobobuoooooboboooon.
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ggooboobooo,gobbodooooboooo,obboooon

N
pﬁo _ (?0) k (4.19)

000 Poisson0000O0000.000,Ty0 pp 000000000 (DDO0OO 30

0D.) 0000000 y=g

(4.19) 000000000
p™/ T = const (4.20)
oooooooooooooD, Tp,pp000D00ODODOOOOOOOOODOODODOD

0000,00000000,7y,000 (potential temperature) 0000, 000000
ooooooooo.
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040 00000

0000000000000 00000000000,0000 2000000 p(2),
00 T(2) 00000000000 po 0000000 (00O pp=1000hPa 00000
0)OOO0oO0ooO0o0O000,00000000 T,0,00 2000000000000
gooogan.

00,000 0000000000. 000000000 0O,0000000 6(2)0
0o, 00000000 bbooogobooooooboog.

OoO00ooooono soogo

S =CpInf + const O (4.21)

goobbob.oobobbbbtbodouooobbbbooooobbbbuoooooobobo
goooo.

gooooooon

goobooooboobboooobobboooobobboooobbboooobLboboooa
gobobooooobuoooobobuoooobobooouobobboooobboooooboo
0ooobooooboboooobboooooboooobobooooboboooooo
gobboodoobobuoooobbuoooobbboooobbbooobLbbooobo
gobobooodooobuoooobbuoooooboboooobbboooobLbboooono
gobbooooobuoooobobuoooobboooobbboooobbooogoboo
O000000000000D00O0py =1000hPa000000O0DO0O0OOODOOOOODO
00000000000000000000000 T, 000000000000 (4.19)
0000000000000 000000000 é000000ODODODOOOO0OO
OO0000o0b0obD 2000000000 0DO0O0DO0ODO0ODOO0DDOODOODbDOOD
gooobog

goobobobbodooooooboobobbodooooboob ppbbboooooon
O000000Op=p/RIOO0ODO0O0OO0DO0OOOODOOOOOOOOOOOOOO
gobobdoodoobobuoooobbuoooobbbooobbbooobbbooobo
goo

gaoo

1. 0000,000000000000,0000000000000000000
0000 ROOOOOO.

2.00000000 dd =TdS —pd(p™!), 0000000000 p=pRT,O
00 dd=C,dT 0000, (4.14) 000000,
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3. (4.15) O Poisson DO 0000000, Poisson 000000000 ODOOOO
00000, 7T,p000000,

()"

00000000000.000,T,0 pp 000000000,
4. (421) 00000000




